LO”SCU/,:,S lmwese Bleeft 1O

38
W= Phuw | eerel ~ Yw= |2 caf «
2, 2 vk E": %3 )
Eo: t ’go /2nM
v I
l/\‘ .
5 L
H= I, - eEx
()
S Ea = E, (’PO{ eEX[‘t['c>
= Eo -€€ <5(>,P - EG“QEL_/_\
L . ¢ 2
L,
€/
3Y V= -xg e = -xqd ¢
v ¢
0 [ (Cu-6.)f *
~> P, = {;7_ g t Ll Vi) loy € ( ¥ ) (
- - (GL‘+Q)/V_,
1 * ___fl/ L.’_(‘wld{l
2 /1 2 T
= w [(Ml X/Z [a)[ll (?_{_E € {
‘\71)- L__V___——a—-—’ Wr J
A __’E'wzu)'/
|/:)_T SV‘\" e 7
) ~2 L
_ ﬂ24/€2 _ ( w /9 2




§ T2 % > L Uboguy

%0) Eant wiclea oc[[d. Uovn. Y7

Ewrza}&,gu;j. (OG> (15 125 ... 24 Llwr._.w

E 454_4&19...

C

Y5 = 2 w5 Do’ 4

= X
~> Sl W) = 2 £y <y Lol lw
t M C )
— 2 = EM g/u,mu
= % le, | E,
= J e, UE +3 wi (BmB) > E
u “u T
— > o
2

fulls (4>=1>  offeba YIRS = B

Fu(_[s (A5 * (&> érbtf es M, So mut £, #C,

PR

—~y <N UH[NY 2 E, 4 (2y, | (E,"E) z £

K__l/ J
= O

G e




— X 2 2 -
= 443 gc(x Xe ~¥ .9, tex|xe
(v
0o
—a 2 2
=4f°[3go(x Xe (-—l d ox tI Y +,cx°)
2 b
o
3 2.2 ” 2dx ] 7 -2dx
=45 W (wxte ¢ 82Q furce
2w . w Y
— e —
L2 [
8 J3 4 9>
< 3
—~ EW@) = % 4 32 7
2 A 2 A
I
0 = AE(gy = W Q- L,
& M 2 S
/f/%
~> d, = 2"1@)
24>
s
—> EO-’—“’ E(o?_,) = é( 2 <2 ’ﬁl) Ee
&l Zm







